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QUESTION 1

You have data stored in the Hadoop cluster. You wish to use "R" to process the data in Hadoop and interface it with
your Oracle database with statistical algorithms. 

Which function should you use to perform a linear regression model on the data? 

A. orch.lm 

B. orch.lmf 

C. orch.lr 

D. orch.nmf 

Correct Answer: A 

Reference: https://docs.oracle.com/cd/E49465_01/doc.23/e49333/orch.htm#BDCUG412 

 

QUESTION 2

What is the role of Kerberos in the Big Data Cloud Service? 

A. It allows for encryption of HDFS data at rest and Data in Motion. 

B. It provides support for fine-grained, role-based authorization over Hive metadata. 

C. It provides a secured Network Firewall to restrict Big Data Cloud Service access from external hosts. 

D. It ensures the identity of users and services communicating over the network. 

Correct Answer: D 

 

QUESTION 3

Oracle Event Hub Cloud Service is supported by many of the Oracle Cloud platforms. Which two are options of where
you can deploy Event Hub Cloud Service (Apache Kafka)? 

A. in Oracle Public Cloud Data centers 

B. in Azure data centers 

C. in Rackspace data centers 

D. in AWS or Azure data centers 

E. in the Customer\\'s on-premises data centers 

Correct Answer: AE 

Reference: https://cloud.oracle.com/en_US/event-hub/features 
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QUESTION 4

You have easily and successfully created clusters with the Oracle Big Data Cloud wizard. You want to 

create a cluster that will be very specific to the needs of your business. 

How would you customize Oracle Big Data Cloud clusters during provisioning? 

A. by using Stack Manager 

B. by using Oracle Enterprise Manager 

C. by using Platform Service Manager UI 

D. by using a Bootstrap script 

Correct Answer: D 

Reference: https://docs.oracle.com/en/cloud/paas/big-data-compute-cloud/csspc/using-oracle-big-datacloud.pdf 

 

QUESTION 5

A financial company uses Hadoop cluster to store, process, and analyze all the stock trading data. They use a map
reduce job to generate daily reports for their clients by 6 a.m. every day using the data on Hadoop cluster. One of the
data nodes in the cluster crashed due to hard disk failure. 

What will be the impact? 

A. Restore the data from backup to the new node and rerun the report 

B. HDFS replication factor ensures that report generation process runs to completion 

C. Hadoop can reboot the failed node automatically and rectify the faulty disk 

D. Downtime will be needed to replace the failed hard disk and rerun the report 

Correct Answer: A 
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